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(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 163.03 100 | 10000 = 1.00 - - 15.10 2.82 ~
2 ~ 3 16324 100 | 10000  1.00 - - 15.13 283 ~
3 ~ 4 16324 100 | 10000  1.00 - - 15.13 2.83 ~
4 ~ 5 16123 100 | 10000  1.00 - - 15.64 292 ~
5 ~ 6 16123 100 | 10000  1.00 - - 15.64 2.92 ~
6 ~ 7 14044 100 | 10000  1.00 - - 13.83 258 ~
7 ~ 8 155.65 = 1.00 | 10000  1.00 - - 14.82 2.77 ~
8§ ~ 9 155.65 100 | 10000  1.00 - - 14.82 2.77 ~
9 ~ 10 | 15557  1.00 | 10000 = 1.00 - - 14.23 2.66 ~
10 ~ 11 - - 100.00  1.00 - - 11.12 208 ~
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1 ~ 2 - - 100.00  1.00 - - 12.77 2.39 ~
2 ~ 3 - - 100.00  1.00 - - 13.94 2.61 ~
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5 ~ 6 - - - - - - - - ~
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1 ~ 2 - - 100.00 1.00 - - 11.91 2.23 ~
2 ~ 3 142.88 1.00 100.00 1.00 - - 12.73 2.38 ~
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